00000 SchrodingerU OO OO OO0
oooooo:

googo
gbogobobobooboobooboobobboboobooobd

1 0O
000D00O00DOO0O0O000 Schrodinger 00000000
—&2Au+ Vi (2)u = pu® + fuv? in RY,
—e?Av + Va(z)v = Bulv + pgv? in RY, (1)

u(z), v(z) >0, u, ve H(RY).

000,e>000000000, p,p,30000,N=23000.
¢e—0000000(1)000000000000.
00000000000000000000e=100 Vi(a),Va(z) O
0000000 (1,3,e=100 Vi(z),Ve(z) 0000000000 [2],
¢e—00000000000000[4,600000.
(000000 U(x) = (ue(z),v-(x)) 0000000000000
oooo.

(I) Vi(2) D0DO0O 2o 0000, 000 rescaling 000 (up(x),0) O
000O00. 00 w(z) 000000 —Au+ Vi(wo)u = pud 0O
googagd.

(II) Va(x) 0000 20000, 000 rescaling 000 (0,vp(x)) O
00000. 00 vw(z) 000000 —Av+ Va(zg)v = ppv® 00
oooo.

(ITI) @1, xzo (x1 £ 2o) OO0O00O Vi(z), Vo(x) OODODOOOODO, u-
00 u(zx) 0 2 0000,v-00 v(x) 0 2o OOODOOO.

*00o000o0ooooUooOooooo



(IV) Us(z) 0 »v-00,0-0000000 2o RY 0000, rescaling O
0,U.(zx) 000000 (2)0 (00000)0000000000.

O0000oOo(Ivyooooooooooooooo.
gopboogooon

(A0) 0 < B < \/fifia-

(A1) Vi,Vo e C'RM) 0000 ¢, L>00000,000 zeRYN OO
00 Vi(z), Va(z) € 4, L].

(A2) OO0 A\, €[, L] 0000
—A+ A — Bwy,, —A+ X — Bwi

O HYRYM) O, positive definite. 00, wy, 0 —Aw + \iw = pw?
gooooooog.

000000 (1)D0O0000000 rescaling00000.
—Au+ Vi(x)u = pu’ + fuv? in RY,
—Av + Va(zo)v = Bulv + pgv® in R, (2)
u(zx), v(z) >0, u,ve H(RY).

H=H'RV)x H@®RY) 00,000 I(z;U): H-ROO0O0DOO0O0O
0.U=(uv)eHOOOO

1
HaosU) = [ IVl + Viloo)ul + Vol + Va(oo)o?do

1
- = / put 4 26uv? + povtda.
4 RN

ag
My = {U = (u,v) € H | u,v #0, I'(y; U)(u,0) = I'(y; U)(0,v) = O}

god

m(y) = inf I(y;U)
Y

0O000. 00 (Al), (A2)000000 yeRYN 0000 m(y) 000
000 minimizer 0 (2)00000000000000000 [1, 5.



2 0Odd

O00oo0o0ooOoOooooooo,m(y) D0OOO0DODOOOODOO
gbooabobooobodgbod.

00 1. 00 (A0)—(A2) 00000. 000,00000 AcRYNOO
000

inf inf *
;gAm(y) <y1€r}9Am(y) (*)

00000000.0000 ()00 Ue(z) (0<e<e)OAODOOO
000000000.0000000000000 2RV OOOO,0
oooo.

(i) 0000 ¢ —-00000000 ¢, 00O0O

Te,, — w0 € K = {z € A|m(z) = ;Ielf\m(y)}
(i) Ue,, (enpx + 22, ) — Uo = (uo(z),vo(z)) strongly in H. OO, Up
0(2)00000000000000000, I(zgUs) = m(zo) =
infyeam(y) DODODO.

00 @G) —0000 m(y) — C1Vi(y) 472 4 CoVa(y)N/2 00O
0,f000000 m(y) 00000000 Vi(z), Vo(z) 0000000
0.

(i) =0000 m(y) = C1Vi(y)*N/2 £ CoVa(y)*-N/72 0ooo,
m(y) 0000000000000 00000.

i) 00 000000000000000 Vi(z), Volz) DO OO, (1) O
0000 minimizing method DO OOOOO.

e = inf )
b=l )

J(U) == / 2| Vu|? + Vi(zo)u? 4 €| Vo|? + Va(zg)vdx
RN

4
M. = {U = (u,v)|u,v £ 0, J.(U)(u,0) = JL(U)(0,v) = 0}

1
- = / put 4+ 26uv? 4+ povtde,
RN

000.000,20€RY O m(y) O global minimizer 00000, b, O
0000 minimizer U. 0 2o e RN 00000, () 00000000
O0o000ooOoooooooo (4.
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